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1. A man and his daughter together weigh 90kg.  The man with his 

cat weigh 70kg, the daughter and cat together weigh 40kg.  What 

do they each weigh? 

2. Three dice are rolled and the scores are multiplied together.  The 

product is 90.  What were the scores on the three dice? 

3. What is the minimum number of each coin I need if it is to be 

possible for me to give any amount of money from 1p to 50p? 

4. Can you find four consecutive numbers which add up to 10?  14?  

50?  106?  Is there a quick way to find them? 
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